Divide by Positive Powers of Ten (C)

Find each quotient.

69 ~10° = 30 +10° =
66 + 103 = 53 +103 =
6+ 10° = 95 + 10% =
95 +~10% = 47 - 103 =
3+10%= 98 + 103 =
62 ~ 103 = 48 ~ 102 =
58 =101 = 6+ 103 =
92 - 10% = 69 =~ 103 =
51 =101 = 22 10t =
82 +10% = 44 +10% =
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Divide by Positive Powers of Ten (C) Answers

69 + 10° = 0.069

66 + 10° = 0.066

6+ 10°=0.006

95 + 10%>=0.95

3 +10%=0.003

62 +10° = 0.062

58+ 10'=5.8

92 +10%>=10.92

51+10'=5.1

82 +10%=0.82

Find each quotient.

30 +10°=0.03

53 +10°=0.053

95 + 10% = 0.95

47 +10% = 0.047

98 + 10° = 0.098

48 = 10* = 0.48

6+ 10°=0.006

69 + 10° = 0.069

22 +10'=2.2

44 + 10 = 0.44

Math-Drills.Com




